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Question Number : 1 Question Id : 2999653241 Question Type : MCQ Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Let A= ; i) . Which of the following matrix is similar to 4?
Options :

(6 2)

l.

2

Question Number : 2 Question Id : 2999653242 Question Type : MCQ Display Question Number ; Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

If A :E ﬂ then the eigen vector cortesponding to its eigen value 3 is

Opftions :

Question Number : 3 Question Id ; 2999653243 Question Type : MCQ Display Question Number ; Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

T
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L fman\T
The value of Lt (ﬂ) 18

xoe \n-3. —t
Opftions :

Question Number : 4 Question Id : 2999653244 Question Type : MCQ Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The maximum value of the directional derivative of f=x + y at the point P(1, 1. 0)
18

Opftions :

o=

Question Number : 5 Question Id : 2999653245 Question Type : MCQ Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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. (VxA)=0

Question Number : 6 Question Id : 2999653246 Question Type : MCQ Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

What is the value of p such that the function £ (z)= ﬂloge (X +Y ) +itan (p’{... )

is analytic?

Options :

Question Number : 7 Question Id : 2999653247 Question Type : MCQ Display Question Number : Yes Is Question
Mandatory : No Single Line Question Optinn . Nn Option Orientation : Vertical

The value of the integral 9‘3 ——dz where C: |z]|=1__

fz +2 )2'
Options :

1 27

—2n(1+1)
2 |

, 2mie”

Question Number : 8 Question Id : 2999653248 Question Type : MCQ Display Question Number : Yes Is Question

-

T
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Mandatory : No Single Line Question Option : No Option Urientation : Vertical
Tf 600 bolts are examined, it is found that 12 were defective then the probability

for finding a non defective bolt is
Options :

1

50
l.

Question Number : 9 Question Id : 2999633249 Question Type : MCQ Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The probability density function of a random variable X is given by

Sx+1), —-l1=x<1

. Then Variance (X) is

0, elsewhere

Options :

2/9
.

4/9
2.

5/9
3.

719

Question Number : 10 Question Id : 2999653250 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory ;: No Single Line Question Option : No Option Orientation : Vertical

In a Binomial distribution, which of the following relation is true.
Options :
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| ‘Mean > Variance
, ‘Mean < Variance
,. Mean = Variance

, Variance =2 Mean

Question Number : 11 Question Id : 2999653251 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The mohorovisic discontinuity is existing in between

Options :
| crust and mantle

5 mantle and core

, sial and Sima

) crust and core

Question Number : 12 Question Id : 2999653252 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Which one of the following figures represets the age of the Earth?
Options :
1 4.543 million years

i 4.543 billion yeais

Question Number : 13 Question Id : 2999653253 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

T
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Which one of the following is not a Sedimentary rock ?
Options :

| Sandstone

g Shale
. Limestone

, Marble

Question Number : 14 Question Id : 2999653254 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Contact metamorphism generally occurs at

Options :
| 1gneous extrusions

_ sediment intrusions

, igneous intrusions

) sediment extrusions

Question Number : 15 Question Id : 2999653255 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which theory states that plates of earth are continuously moving?
Options : |

1 Trench Drift Theory
, Sphere Drift Theory

; Plate Tectonic Theory

) (:)c,eamch‘lft 'Ih'&ﬁlfjf
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Question Number : 16 Question Id : 2999653256 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Two halves into which Earth is divided are called
Options :
| lidges

, frenches
; equators

, Demispheres

Question Number : 17 Question [d ; 2999653257 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Process of collision of two plates with different densities is leads to

Options :
; abduction

, subduction

. occlusion

) Transformation

Question Number : 18 Question Id : 2999653258 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which one of the following is a metamorphic rock?
Options :
. Conglomerate

, Gneiss

, Granite
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p Dolerite

Question Number : 19 Question Id : 2999653259 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The most abundant element in the outer core of the Earth is
Options :
. Silica

5 Oxygen

; Magnesinm

4. : IT ._Gﬁ:.

Question Number : 20 Question Id : 29996353260 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Regilat ocean waves are caused by .
Options :

. Tides
, Winds

Coriolis force
3.

; Tsunammis

Question Number : 21 Question Id : 2999653261 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

If the distance between two points on a 1:50.000 scale map is 1 cm, their

corresponding gronnd distance is

Opfions :
| 50m
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Question Number : 22 Question Id : 2999653262 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘The length of a chain is measured from

Options : |
q centre of one handle to centre of the other handle

> outside of one handle to the outside of other handle

, Outside of one handle fo the inside of the other handle

) inside of one handle to inside of the other handle

Question Number : 23 Question Id : 2999653263 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Theodolite is an instrument used for

Opftions :

tightening the capstan-headed nuts of level tube
l.
; measurement of horizontal angles only
, Measurement of vertical angles only

, Measurement of both horizontal and vertical angles

Question Number : 24 Question Id : 2999653264 Question Type : MCQ Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Binocular vision is the facility which makes possible.
Options :
. Larger view of the features

, Distant view of the features

, Two-dimensional view of the features

, Stereoscopic view of the features

Question Number : 25 Question Id : 2999653265 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The scale of the map divided mto sections’ of 4° Latitude x 4° Longitude as per

international series is.

Options :

~ 1: 1000000
, 1:100000
: 1: 2500000

p 1: 250000

Question Number : 26 Question Id : 2999653266 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The oceans cover “of the surface of the earth.

Options :

| 50%

, 60%

71%
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80%
4,

Question Number : 27 Question Id : 2999653267 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Alidade is used in sutvey.
Options :

5 Plane-Table
, Chain

i Compass

Question Number : 28 Question Id : 29996353268 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

EDM stands for
Options :
1 Eirorless Distance Measuiement

, Electronic Direct Measurement

, Electronic Distance Measurement

‘Errorless Direct Measurement
4.

Question Number : 29 Question Id : 2999653269 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Which of the following is the: correct expression for the scale of a vertical
photograph with focal length of camera ‘£, flying height (H) and average elevation

of terrain ‘h’?
Options :
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| S=H(f-h)

S =f/(H-h)
2 '

_S=(H-hyf

, S=FH-b)

Question Number : 30 Question Id : 2999653270 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The amount of end lap in successive aerial photographs along the flight line is

conventionally in the range of

Opftions :

| S%to 15%

, 20% 1o 30%

3 55% 1o 65%

g 353% 1045%

Question Number : 31 Question Id ; 2999653271 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Which of the following does not cause geometrical distortions in satellite images?
Options :
. Earth rotation

5 'Earth curvature
, Atmospheric absorption

Topographic variations
, Topog
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Question Number : 32 Question Id : 2999653272 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Options :
. 1974

1983
4

1964.
3.

1981
4,

Question Number : 33 Question Id : 2999653273 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

What are the primary colours?
Options :

. Blue, Green and Red

) Ultra violet; Yellow and Magenta

. Red, Greenand Yellow

,, Blue, Orange and Yellow

Question Number : 34 Question Id : 29996353274 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which patt of the electromagnetic spectium the human eye can perceive?
Options :

; 380-740 micro meters
, 380-740 nano meters

. 380-740 millimeters
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i 3R0-740 centimeters

Question Number : 35 Question Id : 2999653275 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

1f the Representative Fraction is 1:50,000, I ¢ on the image equals to

Opftions :
, 50 m on ground

5 500 ¢imon glgund

, 50 cmon the ground.

Question Number : 36 Question Id : 2999653276 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Geosynchronous satellites orbital period is minutes,
Options :
1436

2, 1458

. 1463

4,

Question Number : 37 Question Id : 2999653277 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The reflectance of vegetation is very high in which region of electromagnetic
Spectitm,
Options :

. Red

5 Near Infrared
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, Thermal Infrared

Green
4,

Question Number : 38 Question Id : 2999653278 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The changes in the reflectivity/emissivity with time, is called
Options :

 Spectral variation
, Spatial variation
, Temporal variation,

, Radiometric variation

Question Number : 39 Question Id : 2999653279 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

What moves in Inverse Synthetic Aperture (ISAR) imaging?
Opftions :

. The radar
, The Earth
. The Target

i The antenna height

Question Number : 40 Question Id : 2999653280 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Black colour in image processing is usually represented by
Options :
0
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Question Number : 41 Question Id : 2999653281 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

In case of reflection and refraction of -electromagnetic radiation angle of

Options :
‘incidence = angle of refraction
1. o

inecidence = angle of reflection
7 '

: refraction = sum of the angles of incidence and refraction

, Teflection = sum of the angles of incidence and refraction

Question Number : 42 Question Id : 2999653282 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Instrument that is designed to provide 3-dimensional view of objects on overlapping
pairs of photos is
Options :

1 Gonionieter

, Collimator

_ Theodolite

Stereoscope
4, .
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Question Number : 43 Question Id : 2999653283 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

WorldView-3 satellite sensor of NOAA provides panchromatic resolutionis .
Options :

1 31¢cm

5 45 cm

65 cm
3,

50 cm
4.

Question Number : 44 Question Id : 2999653284 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Formation of snow occurs if the cloud temperature is

Options :

1 just above the freezing point

at the freezing point
2 '

below the fieezing point
3.

at the thawing point
4.

Question Number : 45 Question Id : 2999653285 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The coherence length over which there is a strong relationship between amplitudes

.-

18

Options :

1 ditectly proportional to the bandwidth
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inversely proportional to the bandwidth
2 :

, thesquare of the bandwidth

, the cube of the bandwidth

Question Number : 46 Question Id : 2999653286 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The arrangement of terrain features which provides attributes: the shape, size and

texture of objects, is called

Options :
‘spectral variation
1* T

, Spatial variation
. radiometric variation

) temporal variation

Question Number : 47 Question Id : 2999653287 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The altitudinal distance of a geostationary satellite from the earth is about

Options :

36,000 km
3 .

. 44,000 kim

Question Number : 48 Question Id ;: 2999653288 Question Type : MCQ Display Question Number : Yes Is

-

T
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Question Mandatory : No Single Line Question Option : No Uption Orientation : Vertical

In thermal infrared images, brighter areas of the image indicate

Options : -
‘snow covered areas
I

. cooler areas

) sandy areas

Question Number : 49 Question Id : 2999653289 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Who coined the term ‘Remote Sensing’ ?
Options :
. G.F. Tournachon

, Evelyn Pruitt
;. Wilbur Write

i Roger Tomlmson

Question Number : 50 Question Id : 2999653290 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

.....

fadiant energy incident on the body, is called

Options :
. reflectance
) reflectance factor

. albedo
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, tefiaction

Question Number : 51 Question Id : 2999653291 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The width of the ground coveted by a sensor along the path of an orbiting satellite

is called
Options :
1 [FOV

Swath
2

Synoptic view
3. .

Groutid resolution
4.

Question Number : 52 Question Id : 2999653292 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Apogee refers to

Opftions :
. The point farthest from the earth

, The point nearest from the earth
, The point farthest from the sun

, The point nearest from the sun

Question Number : 53 Question Id : 2999653293 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

S/N ratio is defined as .
Options :

1 Ratio of signal power to noise power
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) Ratio of signal power to distortion

, Ratio of noise power to distortion

4 Ratio of Attenuation to distortion

Question Number : 54 Question Id : 2999653294 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The most energetic rays of EM radiation spectrui are

Options :
, XTays

, £amma rays
, Ultraviolet rays
, Visible rays

Question Number : 55 Question Id : 2999653295 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which waves can penetrate through clouds?
Options :

; ultrasonic
, microwave

 visible and infrared

4 SaumI

Question Number : 56 Question Id : 2999653296 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Image enhancement and restoration are used to process

Options :
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1 degraded images
, high res¢lution images

, high quality images

, ‘brighter images

Question Number : 57 Question Id : 2999653297 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

What is the spatial resolution of PAN sensor of CARTOSAT-37
Options :

i 0.25 m

" 1m

i 25m

Question Number : 58 Question Id : 2999653298 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘What is thie other name for Across-Track Multispectral Scanning?
Options :
. Pushbroom scannetr

‘Whiskbroom scanner
28

Along-Track Multispectral scanner
N .

; Multispectral scanner

Question Number : 59 Question Id : 2999653299 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

T

Landsat program began m year..
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Options :

1972
, 2003
1973

1937

Question Number : 60 Question Id : 2999653300 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

When RGB is assigned to their respective RGB bands, then the resultant image is

Options :
| true color composite

, false color composite
, Dseudo color composite

, black and white composite

Question Number : 61 Question Id : 2999653301 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Cyan dye absorbs component of the white light.
Options :
red
l.
, blue

, green

; magenta

Question Number : 62 Question Id : 2999633302 Question Type : MCQ Display Question Number : Yes Is

-

T
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Question Mandatory : No Single Line Question Option : No Uption OUrientation : Vertical
NDVI is definedas .
Options :

| (NIR-Red)/(NIR+Red)

_ (NIR+Red)/(NIR-+Green)

;. (NIR+Red)/(NIR-Red)

, (NIR-Red)/(NIR-Green)

Question Number : 63 Question Id : 2999653303 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory ;: No Single Line Question Option : No Option Orientation : Vertical

Rayleigh scattering occurs whenn:
Options :
| ‘Shortér wavelengths of energy are scattered more than the longer wavelengths

, Longer wavelengths of energy are scattered more than the shorter wavelengths

, All wavelengths of energy are scattered uniformly

. The particles are just the same size as the wavelengths of the incident radiation

Question Number : 64 Question Id : 2999653304 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The descending ground trace of the remote sensing satellite orbit is called as

Options :

| path
5 TOW

; column

4, Way
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Question Number : 65 Question 1d : 2999653305 Question 1ype : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which one of the following satellites possess a relatively high spectral resolution?
Options :
. Landsat 3

) Spot 4

Cartosat-1

3.

Modis
, Modi

Question Number : 66 Question Id : 2999653306 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The wavelength region of Blue band is

Options :
450 nm to 485 nm

1.

3 485 nm 'to-500.nm

4 500 nm'to 565 nm

Question Number : 67 Question Id : 2999653307 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Wavelength of microwave are approximately in the range of
Options :

. L'mm to 50 cm

, 1nm to 60 cm

. 1 om to 90 em
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i 1 mm to 30 cm

Question Number : 68 Question Id : 2999653308 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which one of the following is not a part of ¢ross track scanning system?
Options :
| Magnetic tape recorder

, Electric motor
, CCD

) Miitror

Question Number : 69 Question Id ; 2999653309 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Number of grey levels present in-a 10 bit data is

Options :
128

Question Number : 70 Question Id : 2999653310 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which Landsat Satellite given below is 2 failure?
Options :
1 Landsat-3
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. Landsat-5

, Landsat-6

Question Number : 71 Question Id : 2999653311 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

By “spatial data’. we mean that data which has

Options @
, _cf}mpl'éxvalﬁés:

graphic values
g S oo

, decimal values

i positional values

Question Number : 72 Question Id : 2999653312 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Interpolation is made possible by a principle called

Options :
| Spatial Autocorrelation

, spatial auto-correction
, themati¢ Autocorrelation

, thematic auto-correction

Question Number : 73 Question Id : 2999653313 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

A is a set of regularly spaced (and centiguous) cells with associated

(field) values. The associated values represent cell values, not point values, This

means that the value for a cell is assumed valid for all locations within the cell.

Opftions :

T
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- crystal

5 raster:

segment
3.

polygon
4,

Question Number : 74 Question Id : 2999653314 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The “boundary model” is sometimes also called

Options :
. temporal data model

, topological discrete model
, topological data model

, temporal discrete model

Question Number : 75 Question Id : 2999653315 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

What is “metadata’
Options :
1 Meteorological data

2.

. Data on metabolism

. Data about data

Question Number : 76 Question Id : 2999653316 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory ; No Single Line Question Option ; No Option Orientation : Vertical

T
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Which one of the following converts raster data in to vector data?
Options :

‘Scanning
1 ! )

4.

Question Number : 77 Question Id : 2999653317 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

“Which of the following is related to GIS?
Options :
. Euclidean space

Ramanujan space
2

. Euler’s space

Lagrangian space

Question Number : 78 Question Id : 2999653318 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory ;: No Single Line Question Option : No Option Orientation : Vertical

‘The geographic coordinate system is defined by’ ;
Options :

| points

, latitudes and longitudes

% lines

; ‘polygons
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Question Number : 79 Question Id : 2999653319 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Overlaying of a stream on a district map is an example for overlay.
Opftions :
: point in polygon

, e in polygon
polygon in point

i line bufferiﬁg’i

Question Number : 80 Question Id : 2999653320 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Which one of the following is not an input device?
Opftions :

, Digitizer

. Keyboard

Plotter
4.

Question Number : 81 Question Id : 2999653321 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Which of the following refers to explicit expression of the spatial relationships

between features?
Options :

Topology
l. '

5 Interpolation
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. Kriging

Geocoding
4.

Question Number : 82 Question Id : 2999653322 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which of the following is not a spatial _aia;&l;f’s'is-'. software?
Options :
1 Fract

, INGRESS

, DynTM

Question Number : 83 Question Id : 2999653323 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Selection of features that are within the specified distance of features 1s termed as

Options :
[ contamment

, proximity

ra_.dj_acency-
g4, '

Question Number : 84 Question Id : 2999653324 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

What is the full form of TIGER?
Options : |
. Topographical Tntegrated Geo-Echo and Referencing

collegedunia:s

India’s largest Student Review Platform

-

T



2.

Topographical Integrated Geographical Enhanced and Reference
3. o

; Topology Integrated Geocoded Enhanced Raster

Question Number : 85 Question Id : 2999653325 Question Type : MCQ Display Question Number : Yes Is
Questmn Mandatory : No Single Line Question Optmn No Option Orientation : Vertical

The process of reshaping: lines by using some mathematical functions such as

splines is called
Opftions :
. line disconnecting

_ line smoothing
: line joining

, line flattening

Question Number : 86 Question Id : 2999653326 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory ; No Single Line Question Option : No Option Orientation : Vertical

What happens in union operation in vector data analysis?
Options ;

Input layers are combined into a sinigle, composite layer lncludmg the data from:

i all the input layers.

, Preserves only features that fall within the area extent.
;. Preserves all features that fall within the common area of all the input layers.

, Removes all features in the input layers.

Question Number : 87 Question Id : 2999653327 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

T
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Which of the following is not a GIS software?
Options :

. ArcGIS,

, GeoMedia

. Earth View

Question Number : 88 Question [d ;: 2999653328 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Which of the following is a GIS model that emphasizes the changes of spatial data

over time?
Opftions :

1 Statistical model

) Vector model
: Dynamic:;m@del.

. Descriptive model

Question Number : 89 Question Id : 2999653329 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which of the following is not-among the Stevens level of data scaling?

Options :

| Ordinal

, Nonunal

; Ratio

, Dasymetric
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Question Number : 90 Question Id : 2999653330 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

A map showing the lines of equal rainfall is called as _

Options :
| 1sobar map

, ‘1socline map
: isohyetal map

, isodaphane map

Question Number : 91 Question Id : 2999653331 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

GPS means.

Options : |
: Global Projecting System

; Global Positioning Systeimn

, Global Processing System

Question Number : 92 Question Id : 2999653332 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Which of the following is not used as a command for queries in SQL?
Options :

_ JOIN

5 SELECT

, INTERSECT
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i GROUP BY

Question Number : 93 Question Id : 2999653333 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

GIS deals with which kind of data?
Opftions :
| Numeric data

, Spatial data

Binary data
3.

Complex data

Question Number : 94 Question Id : 2999653334 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Spatial databases” are also known as

Options :
| Geodatabases

, Monodatabases
, Concurrent databases

p DBMS

Question Number : 95 Question Id : 2999653335 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

SDIstands for .
Options :

| Spatial Data Interface

, Spatial Data Infrastiucture
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_ Spatial Data Intention

Spatial Data International
4. -

Question Number : 96 Question Id : 2999653336 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which one of the following is not a grid based GIS spatial data?
Options ;

, Map model

. Spaghetti model

, IMGRID

Question Number : 97 Question Id : 2999653337 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The study and practice of map-making 1s known as _

Options :
| Cartography

, Geography

. Geology

Question Number : 98 Question Id : 2999653338 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory ; No Single Line Question Option ; No Option Orientation : Vertical

Which analysis'method determines what changes has occuired over time?
Options :
. Temporal Analysis
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, Proximity Analysis
. Statistical Analysis

, Overlay Analysis

Question Number : 99 Question Id : 2999653339 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which of the following is the sequence of digital land surveying conducted in

sequenge of
Options : |
: Establishment of control point, Collection of field details, Automated mapping,

, Collection of field details, Establishment of control point, Automated mapping.

. Establishment of control point, Automated mapping, Collection of field details

) Automated mappmg, Collection of field details; Establishment of control point.

Question Number : 100 Question Id : 2999653340 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

A shapefile differs from a geodatabase because

Options :
a shapefile can contain a single feature class and a geodatabase can contain
1. multiple feature classes.
a shapefile can contain only point, line or polygon feature types but a
geodatabase can use other geometric types.
2+ 1" - 3

| shapefile cannot be created in ArcCatalog but a geodatabase can

cow

4,

Question Number : 101 Question Id : 2999653341 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

T
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‘Which of the following data formats would most likely represent a file exported
from Autodesk-AutoCAD?
Options :

, IXT

. LAS

Question Number : 102 Question Id : 2999653342 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which one of the following is an open source GIS software?
Options :

| ArcGIS
, MapInfo

AutoCAD Map
3.

, QGIS

Question Number : 103 Question Id : 2999653343 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

'Rubber sheeting involves strétching the map in
Opftions :
| one direction only

5 in 2 directions

ections

, In3d

, in various directions
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Question Number : 104 Question Id : 2999653344 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

GCP stands for
Options :
| Ground coordinate point

, Ground conitrol point
3 Global control point

, Global coordiniate point

Question Number : 105 Question Id : 2999653345 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory ;: No Single Line Question Option ;: No Option Orientation : Vertical

‘The degrees of inclination of GPS satellites in an orbital planes is
Options :

85

Question Number : 106 Question Id : 2999653346 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

TIN stands for

Options :

| Traffic Internet Network

5 Triangulated Irregular Network

, Temporal Intetest Network
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, Tempetature Interface Node

Question Number : 107 Question Id : 2999653347 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Which among the following does not come under proximity analysis?
Opfions :
| Buffering

) JInterpolation
; Georeferencing

, Theissen polygons

Question Number : 108 Question Id : 2999653348 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which of the following is a typical characteristic of ground water?
Options :
. High turbidity

Very low oxygen levels
2 5 % I

Variable chemical composition
3, »

, Variable temperature

Question Number : 109 Question Id : 2999653349 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The soil property that canmot be visualised from aerial or space sensors
Options ;
 Soil profile

5 Soil texture
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 Soil structute

Soil colour
4.

Question Number : 110 Question Id : 2999653350 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The important characteristic of a well-graded soil s that

Opftions :
| it contains a wide range of particle sizes

it contains water
2. '

, it contains sand giade particle only

it contains orgatic rich material
4. |

Question Number : 111 Question Id : 2999653351 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The direction in'which a unit of terrain faces is called as
Options :

| Slpe

, Aspect
, Dip

Strike
4.

Question Number : 112 Question Id : 2999653352 Question Type : MCQ Display Question Number ; Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which one of the following applications does not use Real-time GIS data?
Options : | |
, Monitor vehicle location or traffic conditions
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, Monitor weather and hydrelogical conditions
; Track tagged animals in habitat monitoring

Crop monitoring.
4. ' '

Question Number : 113 Question Id : 2999653353 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Which of the following represents a raster model?
Options :

. Grids

5 Nodes

; Arcs

, Polygens

Question Number : 114 Question Id : 2999653354 Question Type : MCQ Display Question Number ; Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

‘Which of the following is the largest scale?
Opftions : |

- 1:25.000
, 1:50,000

5 1 2,50,000

i 1:5,000

Question Number : 115 Question Id : 2999653355 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Cadastral Map refers to
Options :
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| Forest Map
, Trrigation Map
, Land Parcel/Survey Number Map

, Soil Map

Question Number : 116 Question Id : 2999653356 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

A database that stores information in.a tree-like structure in GIS is

Options :

| Hierarchical database

. Relational Database

, Geospatial Database

, Record Database

Question Number : 117 Question Id : 2999653357 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

The estimation of surface values at un-sampled points based on known surface

values of surrounding points is called

Options :
: Cortelation

, Interpolation

: Segmentation

, Autocorrelation
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Question Number : 118 Question 1d : 2999653358 Question Lype : MCQ Display Question Number : Yes Is
Question Mandatory ;: No Single Line Question Option ; No Option Orientation : Vertical

A protocol that allows the transmission of files between computers over a network
is

Opftions :

1 File Tethermg Protocol

, File Transmission Protocol

File Transfer Protocol
3. '

, File Travel Protocol

Question Number : 119 Question Id : 2999653359 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

A graphic representation of an interactive map on a computer screen using Internet
1is

Options :
. WebMap

. ArcMap

: Virtual Map

4.

Question Number : 120 Question Id : 2999653360 Question Type : MCQ Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Process of adding geographical information to various media such as photographs,
videos, websites, etc. 1s called
Options :

| Geotagging

-
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, Georefrencing

Georectification
3.

; Geoprocessing

-
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